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funsZ”k % ¼i½ lHkh iz”u vfuok;Z gSA 
All Questions are compulsory. 

¼ii½ iz”u Ø- 1 esa nks [k.M gS& ¼v½ cgqfodYih; iz”u  rFkk ¼c½ fjDr LFkkuksa dh 
iwfrZ dhft,A  
Question No. 1 contain two parts (A) Multiple Choice questions and  
(B) Fill in the Blanks 

¼iii½ iz”u & i= N% [k.Mksa esa foHkkftr gSA 
Question paper is divided in six parts.  

¼iv½ iz”u & i= esa dqy 25 iz”u gSA 
  In question paper total nos. of question are 25  

 
 

[k.M ¼v½ Part – A 

¼izR;sd iz”u 01 vad dk gS½ 

(Each question carries 2 marks.) 

iz”u Øekad 01 ¼v½ fuEu esa ls lgh fodYi pqudj fyf[k, % 

 (A) Select the correct option from the following and write it 

 ¼i½ lsok iqfLrdk fdlds lkFk miYkC/k gksrh gSa %& 

 ¼v½ okgu    ¼c½ batu 

¼l½ Mªkbfoax ykblsal   ¼n½ lfoZl 

With whom is the service book available  :- 

(a) Vehicle    (b) Engine 

(c) Driving License   (d) Servicing 

¼ii½ LihMksehVj D;k n”kkZrk gS %& 

 ¼v½ ekbyst    ¼c½ lkmaM 

¼l½ “khryu     ¼n½ xfr 

 

 



What does the Speedometer represnt  :- 

(a) Mileage    (b) Sound 

(c) Cooling    (d) Speed 

¼iii½ izs”kj IysV dh ?k’kZ.k lrg ij dkSu&lh js[kk,¡ rFkk [kjksaps gksrh gS %& 

 ¼v½ o`Ùkkdkj    ¼c½ oxkZdkj 

¼l½ f=Hkqtkdkj    ¼n½ ?kukdkj 

What lines and scratches are on the friction surface of the pressure plate :- 

(a) Circular    (b) Square 

(c) Triangular    (d) Cube 

¼iv½ lLisa”ku Vk;j dk laidZ fdlds lkFk cuk;s j[krk gS & 

 ¼v½ batu    ¼c½ ;kf=;ksa 

¼l½ Mªkboj    ¼n½ lM+d 

With whom does the Suspension aire keep contact :- 

(a) Engine    (b) Passengers 

(c) Driver    (d) Road 

  
¼v½ ikSisV okYo batu esa Vkbfeax vkSj xSl izokg dh ---------------------------dks fu;af=r djus ds fy, 
mi;ksx fd;k tkrk gSS %& 

 ¼v½ ek=k    ¼c½ {kerk 

¼l½ xfr     ¼n½ LVªksd 

People valve are used to control timing and gas flow volume :- 

(a) Quantity    (b) Capacity 

(c) Speed    (d) Stroke 

 

 iz”u &1 ¼c½ fjDr LFkkuksa dh iwfrZ dhft, %&  
  (B) Fill in the Blanks :- 

1- eksVj okgu ds QkLVujksa dks vusd fdLeksa --------------------------------------------- cuk;k tkrk gSA 

Motor vechicle fastner are made of many uarities of---------------------------------------------- 

 2- nks /kkrq ikV~Zl dks tksM+us ds fy, uV dks  --------------------------------------ij p<+k;k tkrk gSA 
The Nut is mounted on-----------------------------------to connect two metal parts. 
3- lsok iqfLrdk,¡  --------------------------------------------- ds fy, egRoiw.kZ gSA 

   Service manual book is important for---------------------------------------------- 



4- VSdksehVj batu dh xfr dks ---------------------------------------------esa n”kkZrk gSA 

The Techometer show th engine speed in ------------------------------------------  

 5- izksiyj “kkW¶V dks------------------------vkSj---------------------ds chp vk:<+ fd;k tkrk gSA 

Propeller  Shaft is connected between  -------------------and---------------------------- 

 

[k.M ¼c½ Part – B 

¼izR;sd iz”u 02 vad dk gS½ 

(Each question carries 2 marks.) 

iz”u Øekad 2%& Mk;y xst dk mi;ksx dgk¡ fd;k tkrk gSa\ 
 Where is the dial gauge used \ 

iz”u Øekad 3%& vkbZ- lh- batu esa fdrus izdkj ds okYo iz;ksx fd;s tkrs gSa\ 
How many types of values ard used in an I.C. Engine\ 

 
iz”u Øekad 4%& okgu esa lLisa”ku iz.kkyh dh D;k vko;drk gSa\ 

What is the need of Suspension system in the vechile 
 

iz”u Øekad 5%& dekuh ds iV~Vs dh Hkwfedk fyf[k, \ 
Write down the roles of Leaf spring\ 
 

iz”u Øekad 6 %& eYVhehVj dh lgk;rk ls fdu izpyuksa dk ijh{k.k fd;k tkrk gSa \ 
Which momement are tested with the help of a multimeter 
 

[k.M ¼l½ Part – C 

¼izR;sd iz”u ij 3 vad gSA½ 

 (Each question carries 3 marks.) 

iz”u Øekad 7 %& fLizax fiu ds D;k mi;ksx gS\ 
What is the use of Spring pin? 
 

iz”u Øekad 8 %& Mk;y xst dk egRo fyf[k, \ 
  Write down the importance of dial Gauge? 
 
iz”u Øekad 9 %& okgu esa ¶;wt dk vuqiz;ksx vkSj izfrLFkkiu ds egRo ij ppkZ dhft,A 

Discuss the importance of fuse application and replacement in the vehicle? 
iz”u Øekad 10 %& okgu esa izks;syV “kk¶V ¼Mªkbo “kkW¶V½ dk mi;ksx djus ds 3 mn~ns”; 

fyf[k,A 
Write three purpose of using the propellet shaft? 

 

iz”u Øekad 11 %& okgu esa lLisa”ku iz.kkyh ds eq[; ?kVdksa ds uke fy[ks \ 

Name the main component of the Suspension system in the vehicle? 
 
 



[k.M ¼n½ Part – D 

¼izR;sd iz”u ij 4 vad gSA½ 

     (Each question carries 4 marks.) 

iz”u Øekad 12%& csYVksa esa e”khu isapksa esa pwM+h dk D;k egRo gS\ vkSj D;ks vko”;d gSa\ 
What is the importance of the thread in the bolt machining screw and why it is 
necessary? 

vFkok ¼OR½ 
  uVksa esa pwM+h dk D;k egRo gS vkSj D;ks vko”;d gS \ 

What is the importance of thread in an nut and why is it necessary ? 
 

iz”u Øekad 13%& rsy fu;a=.k fjax ¼NYYkk½ ds D;k dk;Z gS\  
What  are the function of oil Ring? 

vFkok ¼OR½ 
  la’khMd NYyk ¼fjax½ ds D;k dk;Z gSa \       

What are the function of compression Ring? 
 

iz”u Øekad 14%& Dyp fLizax dks Dyp IysV esa D;ksa yxk;k tkrk gS\ fp= }kjk le>kb,A 

Explain  Why the clutch spring is placed in the clutch plate? 
vFkok ¼OR½ 

  vkWVksesfVd Vªkalfe”ku fdrus izdkj ds gksrs gSa\ blds dk;Z fyf[k,A 
  What are the types of automatic transmission and explans its function? 
 
iz”u Øekad 15 %&dekuh iV~Vs dh Hkwfedk fp= }kjk le>kb,A 

Explain  the roles of leaf spring with Dragran? 

vFkok ¼OR½ 
  >wyk iz.kkyh ¼lLisa”ku flLVe½ ds j[kj[kko ds fy, lq>koksa dh lwph cukb,\ 
  Make a list of suggestion for the maintenance of the Suspension system ? 
 
iz”u Øekad 16 %& lfoZl izfØ;k esa midj.kksa dh vko”;drk dks le>kb,\ 

Explain service requirement in the service process? 

vFkok ¼OR½ 
  “kkWd ,CtkWcZj dk lsok ykHk fdu dkj.kksa ls izHkkfor ysrk gS\ 
  What factors affect the shock absorberts service period? 
 
iz”u Øekad 17 %& dscy jax dksM dk D;k egRo gS\ fp= }kjk le>kb,A 
  Explain the importance of colour code with Diagram? 

vFkok ¼OR½ 
vkWVkseksckbZy dscy ds fofHkUu funsZ”k dks fyf[k,\ 

  Write down the different instructions of automobile cable wires? 
 
 
 
 



iz”u Øekad 18 %& eYVhehVj dh lgk;rk ls oksYVst ijh{k.k dh fof/k fyf[k,A 
  Write the method of voltage test with the help of multimeter? 

vFkok ¼OR½ 
eYVhehVj dh lgk;rj ls izfrjks/k ijh{k.k dh fof/k fyf[k, \ 

  Write down the method of resistance test with the help of multimeter?  
 
 
 

[k.M ¼b½ Part – E 

¼izR;sd iz”u ij 5 vad gSA½ 

     (Each question carries 5 marks.) 
 

iz”u Øekad 19 %&ekbØksehVj ¼LØwxst½ dh mi;ksfxrk ukekafdr fp= lfgr le>kb,\ 
  Explain  the utility of micrometer with lablled diagram? 
 

vFkok ¼OR½ 
ofuZ;j dSfyij dh mi;ksfxrk ukekafdr fp= lfgr le>kb,\ 

  Explain the utility of Vernier Calipers with labeled diagram? 
 
iz”u Øekad 20 %& lsok iqfLrdk ¼lfoZl eSuqvy½ ds mi;ksx ds D;k &D;k ykHk gS\ fyf[k,A 
  Write down the benefits of using the service manual. 

vFkok/OR 

  lsok iqfLrdk ¼lfoZl eSuqvy½ dh fo’k; lwph rS;kj dhft,\ 
Prepare the content of the service manual book? 
 
 

iz”u Øekad 21 %& lh- vkj- Mh- vkbZ- iz.kkyh ij dk;Z djrs le; D;k lko/kkfu;k¡ cjruh 
pkfg,A le>kb,\ 

Explain what precaution should be taken while working on C.R.D.I. system ? 
vFkok/OR 

  ,e- ih- ,Q- vkbZ- iz.kkyh ds dksbZ 5 ykHk fyf[k,\ 
Write any five benefits of MPFI system 
 

iz”u Øekad 22 %& fx;j ckWDl ds buiqV “kkW¶V ds lkFk dkSu&lk ikVZ dusDV fd;k tkrk 
gS\ vkSj D;ksa\ 

  Which part is connected with gear box input shaft and why? 
vFkok@OR 

foHksnd ds lkFk “kkW¶V dks tksM+us ds fy, fdl izdkj ds tksM+ iz;ksx fd;s tkrs 
gS\ vkSj D;ksa\ 

What type of joint is used to connect shaft with differential and why? 
 
iz”u Øekad 23 %& vk/kqfud okguksa esa mi;ksx fd;s tkus okys LVh;fjax ds izdkjksa dkssss sss ss sss 

fy[kdj fdlh ,d ij izdk”k Mkfy,\  
  Highligt one of the types of steering used in modern vehicles ? 

vFkok@OR 
dSLVj dks.k D;k gS\ ;g LVh;fjax iz.kkyh dks dSls izHkkfor djrk gS\ 
what is caster angle? how does it affect the steering system? 



 
 

[k.M ¼d½ Part – K 

fuca/kkRed iz”u & ¼izR;sd iz”u ij 6 vad gSA½ 

Essay question – (Each question carries on 6 mark.) 
   

iz”u Øekad 24 %& {kfrxzLr isap dks fudkyus dh fofHkUUk fof/k;ksa dks foLrkj ls fyf[k,A 
Explain in detail the various  method of removing damage screw? 

vFkok@OR 
VwVs ,oa [kjkc pwM+hnkj LVM+ dks fudkyus dh fof/k dks foLrkj ls le>kb;s\ 
Explain in detail the method of removing broken shud? 

 
iz”u Øekad 25 %&  eksVj okgu esa usfoxs”ku iz.kkyh dk D;k mi;ksx gS\ fp= }kjk 

le>kb,\ 
Explain by diagram what is the used of navigation system in automotive? 

vFkok@OR 
fuEu dk mi;ksx fdu dk;ksZ esa fd;k tkrk gS %& 
¼i½ var% lihZ xst   ¼ii½ ifjos/k xst 

  What are the function used in :- 
(a) Telescopic gauge   (b) Bore gauge 
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funsZ”k % ¼i½ lHkh iz”u vfuok;Z gSA 
All Questions are compulsory. 

¼ii½ iz”u Ø- 1 esa nks [k.M gS& ¼v½ cgqfodYih; iz”u  rFkk ¼c½ fjDr LFkkuksa dh 
iwfrZ dhft,A  
Question No. 1 contain two parts (A) Multiple Choice questions and  
(B) Fill in the Blanks 

¼iii½ iz”u & i= N% [k.Mksa esa foHkkftr gSA 
Question paper is divided in six parts.  

¼iv½ iz”u & i= esa dqy 25 iz”u gSA 
  In question paper total nos. of question are 25  

 
 

[k.M ¼v½ Part – A 

¼izR;sd iz”u 01 vad dk gS½ 

iz”u  & 1 ¼v½ fjDr LFkkuksa dh iwfrZ dhft, %&  
1- lsok iqfLrdk dk iz;ksx--------------------------------------------- ds fy;s fd;k tkrk gS \ 

  2- uV ,d izzdkj dk QkLVuj gS ftl esa --------------------------------------fNn jgrk gSA 

3- <ghy LVM pwM+hnkj QkLVujksa gS tks dbZ okguks ds --------------------------------dks idM+rs gSA 

4- fMftVy ekbØksehVj  ---------------------------------------------jhfMax dks iznf”kZr djrk gS\ 

5- izs”kj IysV dh ?k’kZ.k lrg ij ---------------------------------------------js[kk,a rFkk [kjksps gksrh gSA 

iz”u Øekad 01 ¼c½ fuEu esa ls lgh fodYi pqudj fyf[k, %  

¼i½ lsok fu;e iqfLrk fdldh tkudkjh gksrh gSa %& 

 ¼v½ euq’;   ¼c½ okgu 

¼l½ jksM   ¼n½ buesa ls dksbZ ugha 

¼ii½ Qhyj xst dk mi;ksx fdl ekiu ds fy;s fd;k tkrk gS %& 

 ¼v½ yackbZ  ¼c½ varjky  



¼l½ pkSM+kbZ   ¼n½ Å¡pkbZ 

¼iii½ lapkj.k iz.kkyh dk Hkkx ugha gS %& 

 ¼v½ Dyp    ¼c½ fx;j ckWDl 

¼l½ czSd     ¼n½ iksisyj “kkW¶V 

¼iv½ lLisa”ku iz.kkyh fdl dk;Z ds fy;s mi;ksx fd;k tkrk gSS & 

 ¼v½ okgu dks jksdus ds fy;s ¼c½ okgu dks >Vdksa ls cpkus ds fy;s 

¼l½ xfr iznku djus ds fy;s ¼n½ buesa ls dksbZ ugha 

  
¼v½ ,tkLV okYc dk mi;ks fd;k tkrk gSS %& 

 ¼v½ bZ/ku ds feJ.k dks ngu d{k esa ykuk 

 ¼c½ dSe “kkW¶V dks xfr iznku djukA 

¼l½ tys gq;s bZ/ku ds feJ.k ¼/kqvk¡½ dks cgkj fudkyuk 

¼n½ buesa ls dksbZ ugha 

 

[k.M ¼c½ Part – B 

¼izR;sd iz”u 02 vad dk gS½ 

(Each question carries 2 marks.) 

 

iz”u Øekad 2%& CysM pk¡nk D;k gSaA [2] 
  

iz”u Øekad 3%& dSe “kk¶WV dk D;k dk;Z gSA [2] 
 
iz”u Øekad 4%& lsUVj cksYV ¼dsUnz cksYV½ dk dk;Z crkb,A [2] 
 
iz”u Øekad 5%& LVh;kZjx Ogksy dk mi;ksx crkb,A [2] 

 

iz”u Øekad 6 %& gkbMªksehVj dk mi;ksx fdl dk;Z ds fy;s fd;k tkrk gSA [2] 
 

 [k.M ¼l½ Part – C 

¼izR;sd iz”u ij 3 vad gSA½ 

iz”u Øekad 7 %& “kSdy dk mi;ksx crkb,A [3] 
 

iz”u Øekad 8 %& okfuZ;j xgjkbZ xst dk mi;ksx crkb,A [3] 



 

iz”u Øekad 9 %& ¶;wt ds izdkj crkb,A [3] 
 
 
iz”u Øekad 10%& vkWVkseSfVd Vªkalfe”ku iz.kkyh ds izdkj dks crkb,A [3] 
 

iz”u Øekad 11%& lLis”ku iz.kkyh ds mn~ns”; crkb,A [3] 
 
 

[k.M ¼n½ Part – D 

¼izR;sd iz”u ij 4 vad gSA½ 

iz”u Øekad 12%& ehfVªd pwM+h ls D;k vfHkizk; gS\ ehfVªd pwM+h dk izksQkby cukb, vkSj 
le>kb, \ 

vFkok  
   fuEu ds egkRo dks crkb,  [2+2=4] 
  
   ¼v½ fjosV   ¼c½ ok”j 

 
iz”u Øekad 13%& okYo ds dk;ksZ dk o.kZu djs vkSj js[kkfPk= cukb,  

vFkok  
 fiLVu esa fdrus izdkj ds fjax mi;ksx djrs gS blds egkRo dks crkb,A  [2+2=4] 
    

 

iz”u Øekad 14%& foHksnd dSls dk;Z djrk gS fp= }kjk le>kb,A [2+2=4] 
vFkok  

  okgu esa Dyc dk D;k mi;ksx gS\ blds eq[; Hkkxksa ds uke crkb,A [2+2=4] 
 
iz”u Øekad 15 %&fuEu dks le>kb,A 

      ¼v½ “kSdy   ¼c½ dsan cksYV   [2+2=4] 
 

vFkok  
  fuEu dks le>kb,A 

      ¼v½ ikoj LVªsfjx  ¼c½ ,;j lLizs”ku flLVe [2+2=4] 
 

   
iz”u Øekad 16 %& “kkWd vkcucZj dk lsokdky fdu & dkj.kksa ls izHkkfor gksrk gSA [4] 
 

vFkok  
  LVhefjax ;kstd ds dk;Z dks crkb,A   [4] 
 
 



iz”u Øekad 17 %& okgu esa tyok;q fua;=.k ls D;k vfHkizk; gS\ [4] 
 

vFkok  
fo|`r bZ/ku iai ds D;k ykHk gS\     [4] 

 
iz”u Øekad 18 %& ok;fjax gkusZl D;k gS\ ;g vkVkseksckby es fo|`r ds dusD”kuksa dks dSls 

izHkkfor djrk gSA 
   

vFkok  
fuEu dks le>kb,A 

      ¼v½ tEij rkjs   ¼c½ ijh{k.k ykbV  [2+2=4] 
 
 

   
[k.M ¼b½ Part – E 

¼izR;sd iz”u ij 5 vad gSA½ 

 

iz”u Øekad 19 %& ;wfuolZy izo.k pk¡nk dks fp= }kjk le>kb,\ 
   

vFkok ¼OR½ 
Mkby  xst ds dk;Zdkjh fl/nkar dks le>kb,\ 

   
 
iz”u Øekad 20 %& xzkgdksa ds fy;s lsok fu;e iqfLrdk dk egRo crkb,\ 

vFkok/OR 

   lsok fu;e iqfLrdk esa fdu & fdu phtksa dk fooj.k fn;k tkrk gS\ 
 
iz”u Øekad 21 %& VcksZ pktZj ds dk;Z iz.kkyh dks le>kb,\ 

vFkok/OR 

  lh- vkj- Mh- vkbZ- iz.kkyh ds dk;Z fof/k dks crkb,\ 
 

iz”u Øekad 22 %& okgu esa foHksnd dk D;k egRo gS blds dk;ksZ dks crkb,\ 
   

vFkok@OR 
Dyp fLiazx dks Dyp IysV esa D;ksa yx;k tkrk gSA 

 
iz”u Øekad 23 %& fuEu dks le>kb,A 
 ¼v½ dSEcj dks.k  ¼c½ dsLVj dks.k  
   

vFkok@OR 
fuEu dks le>kb,A 
¼v½ Vksbu   ¼c½ Vks vkÅV 
 
 



[k.M ¼Q½ Part – F 

fuca/kkRed iz”u & ¼izR;sd iz”u ij 6 vad gSA½ 
   

iz”u Øekad 24 %& okgu esa [kjkc “kh’k ds uV vkSj cksYV dks gVkus dh fof/k dks crkb,\ 
vFkok@OR 

LVwM ds izdkj dks fyf[k, ,oa muds vuqiz;ksx crkb,A 
 
iz”u Øekad 25 %&  LØw fip xst vkSj varjky xst ¼Qhyj xst½ fdu dk;ksZ ds fy, fd;k 

tkrk gSA 
vFkok@OR 

fuEu dks le>kb,A 
¼v½ dks.kh; ekiu  ¼c½ ry lrg ekiu 

   
 
 
 
 
 
 
 
 
 
 
 
 
 
 


